(UTRUI—20)

= 56(7) <Ray}

3w aRem—u=
RN waeE #wi | A= Ade™ d=1 W) AdeE &1 uRemH ffRed o & forg ST § @R o)
68— RISl faemeT fFafes &3 3 ScRrave 59 @ aTead @ fog fFafes e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884
HAGM | Haar Il Bl ffoieaa & ug & oy v fafmm #al &1 S 2
Gl "o E
- LR R e R R e R
<o £ £ g | E ¢ |8 : : £ | :E |
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 | 16 17 18 19 20 21
1 [R1030#0fd0 528 2 142 3 6 0 2 7 1 1 2 1 695 0 6 701
HAYR DHOT0—1
2 [SwiE Ho0—2| 599 10 160 0 0 1 0 3 0 1 1 0 1[0 0 776 0 0 [ 776
3 [or|a e yaq 749 7 217 4 0 0 2 0 0 3 3 1 0 2 1 989 0 7 996
4 [jmodofdo 262 131 165 5 2 0 0 11 0 2 2 2 0 5 2 589 0 3 592
5 [JTouTofdoeriaamT 540 5 150 1 0 0 0 5 0 3 1 0 1 1 0 707 0 2 709
H F0—1 H070—1
6 [SURIdd H0-T0—2 607 4 175 2 0 2 0 9 1 3 3 2 1 1 2 812 0 2 814
7 ?T.EL.HT.ﬁ 599 11 158 2 0 0 0 1 0 0 3 0 2 2 0 778 0 3 781
NIEGELEC A
JHISYR HA. 1
8 ?T.ELHTJ%. 705 8 188 3 0 1 0 3 1 5 5 0 1 1 3 924 0 5 929
NIESEILIC A
JHISR FA. 2




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

HAAQTT el o

ffoRea @ uer 9 Ry v faftm= wat @ w5

3 L= 1 &
> ; e F e | BB B |E | EIE|E EIE | B|sf|= | |5
"~ £ ¢l EIR B E B L E B |F R E R
£ |2 A AR AR g | £ | F|E BT ;-
3 % B E
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 2
9 [R1030uTofd0 577 6 258 4 1 1 0 2 1 3 0 0 3 1 2 859 0 6 865 0
g -a
(Mfa=eR)
H0-0—1
10 [SWRIFT H00—2 549 4 265 5 1 1 0 0 1 13 3 0 4 3 2 851 0 8 859 0
11 [Rrurfausrmg 534 4 145 1 1 1 1 1 0 1 3 0 1 1 0 694 0 2 696 0
(Mfa<TR)
12  [RT0uTOfd0 407 7 102 3 1 2 1 8 1 3 1 0 0 2 0 538 0 5 543 0
e F0—2
H0-0—1
13 |SWRIed $0+0—2 496 6 70 0 0 0 0 69 0 0 2 3 0 0 0 646 0 4 650 0
14 [ fRATea™ | 649 4 115 1 0 0 1 18 1 1 1 1 0 0 0 792 0 2 794 0
B 1
15 ?T.G.HT.]%.WI’H 370 3 134 2 0 0 0 12 0 0 2 1 0 0 0 524 0 3 527 0
HH. 2
16 ?TOS’OHTIOETﬁFrUﬂ 619 3 161 2 1 0 0 6 0 2 1 0 0 0 1 796 0 2 798 0
H $H0-0—1
17 ?Tos’oaﬁromﬁ%rqo—r 528 8 161 3 0 1 0 9 1 0 2 0 0 1 0 714 0 5 719 0
¥ $H0-0—2
18 |SWRIFT $H0+0—3 475 9 82 1 1 0 1 3 1 4 3 0 2 1 2 585 0 2 587 0




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

HAAQTT el o

ffoRea @ uer 9 Ry v faftm= wat @ w5

3 L= 1 &
% E ol E e | BB e B g B % |k |E|B|E|E|sF|%|F|E
' Eﬁ% s |E e |8 i STE(E (e |g
g % E - £ E* : E
o
E & E ® 2 §a3 R
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 2
19 [R10S0%T0 651 14 196 0 1 2 3 4 1 1 2 4 1 880 0 7 887 0
fdaHTH
faRad ya=
HOT0—1
20 [RT0S0hI0 671 2 102 5 1 0 1 4 1 2 3 0 0 0 0 792 0 4 796 0
rfaaerd
ffalRed wa=
PHOT0—2
21 [RT0S0hT0 570 5 237 2 1 1 0 8 2 0 0 1 2 0 0 829 0 1 830 0
rfaawrd
SrfaRad wa=
PH0-0—3
22 [j10z0T10 745 6 143 4 1 0 0 4 1 8 3 0 3 2 2 922 0 6 928 0
IIfdTBTH T
ey
23 [JToumofdo 402 5 157 1 3 2 1 5 0 1 0 0 2 0 1 580 0 1 581 0
yfddgsr F0—3
HOT0—1
24 |SWRIET H0-0—2 393 1 160 1 0 0 0 0 0 4 2 0 2 0 0 563 0 3 566 0
25 ?T.‘LHT.]%. QIR 589 3 224 5 0 1 1 2 2 5 6 1 0 1 3 843 0 3 846 0




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

AqdeH | AdaE R Bl frefafag & uar § fou v A= 7t 1 | 2
B L= 1 &
" ; el el BB 8|8 || 8 ELE | BIEf e 2|55
- : c | e BB e E|B|F (2B 5
E £ |2 E1% | s | & B F | g |
% B ,Er
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22
26 [RToutofdo 331 76 175 0 1 4 3 2 1 2 3 5 605 0 8 613 0
‘$©h0-10—1
27 [Swied wo-o—2| 301 134 79 9 0 0 0 13 3 5 4 3 1 5 4 561 0 4 565 0
28 [vrgArfa 359 111 90 2 0 1 1 ) 0 0 1 0 0 0 2 575 0 0 575 0
29 [BRRc ST §var| 431 6 223 4 1 0 1 10 0 5 2 1 3 0 0 687 0 10 | 697 0
TR Rerg
(HTS)
30 [vouofdo s, | 209 8 199 1 0 0 0 2 0 1 1 0 2 4 1 428 0 3 431 0
BH0H0—1
31 |[SWRaq wo-0—2 | 428 27 172 2 0 0 1 9 1 4 3 1 5 1 2 656 0 2 658 0
32 [uofdovdmr 424 3 91 1 0 2 0 4 0 0 2 1 0 1 0 529 0 4 533 0
“0—2 Dh0-10—1
33 [urofdovdmE 330 2 49 0 0 0 0 2 0 0 0 1 0 0 1 385 0 2 387 0
“0—2 h0-0—2
34 [AeFe MU BR[| 565 7 53 2 0 0 2 2 1 1 5 0 1 1 1 641 0 1 642 0
T] TS Teldee!
YR |, 2




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

AqdeH | AdaE R Bl frefafag & uar § fou v A= 7t 1 | 2
B L= 1 &
" ; el el BB 8|8 || 8 ELE | BIEf e 2|55
- : c | e BB e E|B|F (2B 5
E £ |2 E1% | s | & B F | g |
% B ,Er
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22
35 [SAfazdTeE| 312 5 70 1 1 0 0 3 1 2 4 2 0 2 3 406 0 2 408 0
H0—2 A, 1
36 [SWRIaT do-io—2 | 262 86 74 4 1 0 0 10 0 0 3 3 0 0 2 445 0 3 448 0
37 [R10S0uT0fa0 547 4 63 3 0 1 0 3 1 0 1 3 2 4 0 632 0 3 635 0
IATHE H0—2
g = iflfl HIAT
38 [<7ommofdo 654 5 110 1 0 1 0 2 1 4 3 0 1 2 1 785 0 3 788 0
IqIBTH F0—3
‘©h0-10—1
39 [SWRied wod0—2| 573 4 55 2 0 0 0 2 0 0 1 0 0 0 0 637 0 2 639 0
40 [voutofdovamra | 443 2 100 1 2 0 0 0 1 1 2 0 2 3 0 557 0 4 561 0
“0—1h0-10—1
41 [grofdovawr 377 1 85 0 0 0 0 1 0 3 1 0 1 0 3 472 0 4 476 0
“0—1 P0-0—2
42 [~toutofdo 603 1 151 0 0 0 0 3 0 2 4 1 2 2 3 772 0 4 776 0
YATHE A0 1 .
4. 1 (FHa TR)
43 [SWied wo-0—2 | 562 5 138 1 0 1 1 4 0 5 5 1 1 0 1 725 0 1 726 0




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

AqdeH | AdaE R Bl frefafag & uar § fou v A= 7t 1 | 2
B L= 1 &
> EE_EEEEEgEEEEoﬁg@@FE%EE
E e g | BB BB g |F ol |®|F|c 8 % E5||" |
2 %
3 5 B B
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 2
44 |Rmourofdo T 477 17 200 1 13 3 1 1 2 3 0 1 723 0 10 733 0
‘$h0-10—1
45 [SWiad wo-0—2 | 535 26 97 1 1 0 0 3 1 5 2 1 1 3 0 676 0 4 680 0
46 |vtourofdo fyaiAr| 424 6 131 2 0 1 1 9 1 3 1 4 5 2 6 596 0 11 607 0
SfaRed wa=
47 [JToumofdo 273 1 243 7 3 0 0 1 1 6 0 2 1 1 1 540 0 5 545 0
THfTIT HOT0—1
48 [SwRied wo-o—2| 370 10 203 6 0 2 1 3 0 1 1 0 0 1 0 598 0 7 605 0
49 |RTouTofdo 213 7 203 11 2 0 0 2 0 2 1 0 1 2 0 444 0 5 449 0
Tepferan JAfaRed
wqq
50 [T0Y0HTOfd0 407 62 150 4 2 2 1 9 1 1 4 3 3 5 2 656 0 11 | 667 0
51 [Rowmofdo sH=gR[ 562 12 203 10 2 2 0 16 2 6 6 1 0 3 0 825 0 5 830 0
52 [@oTmen 485 51 281 10 1 1 1 21 2 3 1 3 1 0 2 863 0 5 868 0
3frarofae.
RIarRTs &4, 1




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

HAAQTT el o

ffoRea @ uer 9 Ry v faftm= wat @ w5

3 L= 1 &
W“ AR AR A AR AR R PRE SR NN BRI LRt
- : c | e BB e E|B|F (2B 5
R D)
£ |2 E1% | s | & g | f | ¢ £ :
3 % B E
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 2
53 |woTTen 273 25 220 4 0 0 0 15 0 2 0 1 1 2 2 545 0 2 547 0
ararofae.
RaRTs &4, 2
54 |N10S0hIelIT, 171 40 321 2 0 1 0 11 0 1 0 0 0 0 0 547 0 0 547 0
Rares gferoh
&ATH HO-0—1
55 [R10S0PTeINT, 29 57 458 6 3 1 0 0 2 2 1 1 1 1 2 564 0 1 565 0
RrarersT gferoh
&ITh HOT0—2
56 |RIdRITST 111 16 337 4 0 0 0 3 0 1 0 0 0 2 1 475 0 3 478 0
1050100
I &ITh
H0OT0—1
57 |RIARITST 23 15 361 7 0 0 0 7 0 2 0 0 2 0 0 417 0 0 417 0
10501010
I <ATh
H0T0—2
58 [RrarTst 35 71 485 6 0 1 0 3 1 4 0 1 0 1 2 610 0 0 610 0
1050HT0RIT0
I &ATh
H0-0—3




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

HAAQTT el o

ffoRea @ uer 9 Ry v faftm= wat @ w5

3 L= 1 &

> Eggﬁéggggﬁgggiﬁvﬁﬁgﬁ

- : Sl AR A

£ |2 A AR AR g | £ | F|E BT ;-
3 % B E

1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 2

59 [RT0S0PTeINT, 351 41 251 9 15 1 1 0 1 2 0 1 674 0 5 679 0
Ryareior gferoh
&TH HO0 4

60 [RT0S0PTeST, 356 33 302 6 2 2 0 3 0 3 2 1 1 2 3 716 0 4 720 0
Rarers afdesi

61 [RT0DHAT SO0RI0 613 18 154 2 0 0 0 14 0 0 0 1 0 0 0 802 0 6 808 0
RrarTs
H0-0—1

62 |BoTTER 586 21 158 3 0 0 0 10 0 3 0 0 0 2 1 784 0 3 787 0
afrarofae.
RIaRTs +.H. 3

63 [RT0%=aT S0®I0 687 10 199 1 0 0 0 17 0 2 0 1 0 0 1 918 0 4 922 0
Ryars
H0-0—2

64 [XT0HIT SODI0 414 22 342 6 2 3 0 6 1 1 2 0 1 0 3 803 0 4 807 0
H0-0—3

65 [RT0UTOfd0 192 9 210 3 0 0 0 8 0 1 0 0 0 1 1 425 0 3 428 0
H0-0—1

66 [SWRIaT ®wo-io—2 | 222 10 188 3 0 0 1 8 0 0 0 0 1 0 0 433 0 5 438 0




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

AqdeH | AdaE R Bl frefafag & uar § fou v A= 7t 1 | 2
B L= 1 &
. Eole B e BB B [T k| R |sE ||k -
"~ £ ¢l EIR B E B L E B |F R E R
B | £ E E1% | g | & E £ |F £~ ’ E
3 % B B
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22
67 [RTouTofdoRIaT 540 2 94 1 0 0 0 23 0 2 0 0 0 1 0 663 0 6 669 0
1, UTH h0-0—1
68 [SWRIad wo-lo—2 | 605 7 114 0 0 0 0 16 0 1 0 0 1 0 0 744 0 4 748 0
69 [aralodve wfafa| 208 107 472 7 0 0 0 3 1 1 4 0 3 2 2 810 0 3 813 0
E E E .3
‘$h0-10—1
70 [@raodver @fafg| 167 34 421 10 1 0 0 0 0 1 3 2 0 5 0 644 0 6 650 0
Rraras
‘h0-10—2
71 |®raioaR fago 431 40 227 4 0 0 0 33 0 3 1 1 1 0 0 741 0 4 745 0
f_etor Hquer
wfafa AR
72 [umofdo TRREST 223 28 196 4 0 0 1 11 1 1 0 0 0 3 1 469 0 1 470 0
‘$h0-10—1
73 [wmofdoTRRgT 36 44 216 8 0 0 1 5 0 2 3 1 1 2 0 319 0 0 319 0
‘$h0-10—2
74 [RTowtofdo <AremT 193 279 107 1 0 0 13 1 0 4 2 3 0 2 606 0 1 607 0
75 [RTourofdo TMrer 168 27 26 2 1 0 0 0 0 2 0 2 1 0 230 0 7 237 0
‘©h0-10—1
76 [RTourofdo MreT 326 220 68 9 1 0 1 2 2 4 5 1 1 2 2 644 0 8 652 0

$h0-10—2




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

HAAQTT el o

ffoRea @ uer 9 Ry v faftm= wat @ w5

B L= 1 &

- IHEELHBHEIHHEH B IH

gt E & s | E p 5 |EE -

Ele 2|k C BT g |Fls]eE i £ 18 |gE B
3 ® i 2 E E J

1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 2

77 |Rtoumofdo 487 258 98 5 4 2 1 7 1 11 8 9 896 0 26 | 922 0

78 [RToumofdo=Ne e | 337 24 198 5 1 0 1 16 1 1 2 1 4 3 1 595 0 7 602 0
c

79 [Rrourofdoqgaifcren| 355 15 155 0 0 0 0 10 3 1 2 0 1 2 2 546 0 4 550 0
N

80 [RTourofdo 249 337 189 1 0 6 1 13 0 4 3 3 3 6 2 817 0 6 823 0

81 [vroutofdo favsdy, | 440 42 119 5 1 1 1 18 1 1 1 1 0 2 2 635 0 5 640 0
H0H0—1

82 [SwRied ®od0—2| 191 6 97 3 0 0 0 29 0 2 0 0 3 0 2 333 0 4 337 0

83 [R100309T0fd0 26 59 203 2 0 0 0 0 0 0 1 1 2 3 1 298 0 1 299 0
FINY, H0O-0—1

8331 [R100S0uT0fd0 28 10 290 4 0 0 0 1 0 1 0 0 0 0 4 338 0 3 341 0
FINY, H0-0—3

84 [SWRIaT wosio—2| 218 17 249 4 0 0 0 1 0 2 0 0 1 1 2 495 0 5 500 0

85 [0uT0fd0 HorgRy | 503 12 151 4 3 1 0 36 1 3 2 0 1 1 2 720 0 4 724 0
‘$h0-10—1

86 |SURIaT $Ho-0—2| 166 2 90 17 0 2 0 17 0 1 1 0 2 2 2 302 0 1 303 0




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

A | Ada™ I Bl ffoRea @ uer 9 Ry v faftm= wat @ w5 2
3 L= 1 &
- Eole E e | BB e B g |E|% |k |E|B|E| B 5T |F|E
- : c | e BB e E|B|F (2B 5
: | F |2 E1% | s | & g | f | ¢ £ |
4% B ,Er
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 2
87 |UAIICTER gogan [ 291 47 243 22 13 0 2 3 2 3 5 2 634 0 8 642 0
88 [<TouTofdo 107 7 286 24 1 0 0 8 0 0 2 1 2 2 2 442 0 1 443 0
THCYRT H0-0—1
89 [Rromofdo qdeqy| 25 6 337 4 0 0 0 2 0 0 1 0 2 | 0 0 377 0 0 [377 | O
H0\0—2
90 [vTouTofdo ReeT| 367 23 419 12 0 0 0 1 1 6 1 0 0 4 0 834 0 6 840 0
91 [@rMeRie demad| 444 20 91 26 2 0 0 20 0 1 0 1 1 1 2 609 0 7 616 0
wa_ A A,
E E E .3
92 []10d70fd0 BeRyx| 479 4 23 0 0 0 0 2 0 0 1 2 0 | 1 0 512 0 13 [ 525 | O
H00—1
93 [SWRIeT Ho-0—2 | 254 52 150 1 1 0 0 5 1 1 1 0 0 0 0 466 0 5 471 0
94 [vroutofdo wavgz [ 189 21 461 3 0 0 0 5 1 1 0 0 0 2 3 686 0 7 693 0
SrfaRad a=
95 [RT0UTOfd0 HSTNI 153 122 273 1 0 0 0 8 1 2 2 1 1 6 3 573 0 1 574 0




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

A | Ada™ I Bl ffoRea @ uer 9 Ry v faftm= wat @ w5 2
G| L= 1 &
o ; e F e | BB B | E | |EIE |k E|B|E B (5| g IR
' - £ & 2 | E ¥ £ |EE -
E e g | BB BB g |F ol |®|F|c 8 % E5||" |
o
3 % 2 B E
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 2
96 [RT0uTOfd0 SAhaT 113 110 262 3 10 0 2 0 0 0 0 2 505 0 2 507 0
H0OT0—1
97 [SwRIad HoH0—2 8 49 347 14 0 0 0 7 0 2 0 2 0 1 1 431 0 3 434 0
98 [RTouTofdo MR 68 19 554 9 0 1 1 1 2 4 1 2 0 1 4 667 0 4 671 0
99 [RTHTIE. STYRT 289 7 252 5 1 1 1 3 5 9 3 0 583 0 8 | 591 0
100 [RTUTOUTOE AT 442 2 81 1 0 1 0 0 1 2 0 0 1 1 3 535 0 7 542 0
H0—4 H070—1
101 [RT.uT0uTO AT 438 5 96 2 2 0 0 0 0 1 1 1 0 1 0 547 0 6 553 0
H0—4 H0-0—2
102 [RTowTofdo ?Iéﬁm'\f 224 3 60 0 0 0 0 4 1 1 1 0 0 2 1 297 0 2 299 0
103 [0 g9 60 141 172 1 1 1 0 1 2 0 1 0 0 1 0 381 0 1 382 0
HofdosETe
H0T0—1
104 [SURIaT B0-0—2 127 160 366 10 0 0 0 9 0 2 2 1 2 3 6 688 0 6 694 0
105 [RT0uT0fd0 BN 447 60 265 11 0 1 1 4 1 5 2 1 3 2 3 806 0 3 809 0
AHAYR HOT0—1
106 |SURIGd H0-0—2 215 27 251 10 0 0 1 2 1 6 3 1 2 4 1 524 0 6 530 0
107 |[SURIAT H0-10—3 23 17 643 13 0 0 1 7 1 8 6 2 2 2 2 727 0 3 730 0




(UTRUI—20)

= 56(7) <Ray}

Irfsaw aRom—u=

CRNfRR 7aa™ S5l ¥ A= AqqM dal IR AGE BT URCIM AMfARed 7w & forg U=t 3§ o <)

68—RaRT< e fafeq 8F § ScRaTs I @ oead B forw fate

e w1 Fafer—a @ve 3§ fafae! @ g ww=r - 100884

AqdeH | AdaE R Bl frefafag & uar § fou v A= 7t 1 | 2
B L= 1 &
- e B e BB BB e B F e lE|B]E B |5T] |k |5
- : c | e BB e E|B|F (2B 5
E £ |2 E1% | s | & B F | g |
% B ,Er
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22
108 [RTouTofdo 163 320 135 11 2 2 2 3 6 2 6 7 664 0 7 671 0
‘$©h0-10—1
109 |SWRITT H0-0—2 13 299 333 2 1 1 1 0 1 4 2 0 2 3 5 667 0 4 671 0
110 [JToumofdo =1 373 133 32 0 0 2 0 2 3 1 5 2 2 1 2 558 0 5 563 0
‘©h0-10—1
111 |[SWRIaq pod0—2 | 182 59 305 3 1 0 0 15 0 3 2 0 2 2 0 574 0 1 575 0
112 [R10gpHT0fd0 397 3 63 2 0 0 2 0 0 0 2 0 0 0 0 469 0 3 472 0
‘h0-10—1
113 |[SwRiaq woqd0—2| 320 2 43 0 1 0 0 0 0 2 0 0 1 0 0 369 0 4 373 0
114 [R1080pT0 a1 495 22 131 3 0 0 0 2 0 0 6 7 1 3 2 672 0 5 677 0
‘$h0-10—1
115 |SWRIad H0-0—2 | 406 18 93 1 0 2 1 0 0 1 0 0 1 0 4 527 0 4 531 0
116 [T0®0Y0HI0fd0 304 68 141 0 0 0 0 1 0 1 2 1 1 1 1 521 0 5 526 0
§NT
AT 42647 | 4731 | 22429 498 71 64 37 850 81 | 254 | 224 | 105 | 147 | 189 | 173 | 72500 0 498 [72998| 0




